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So, what is the point of fermentation??

Without this process, there could be no "recycling™ of the " carrier NAD™. In
either of these pathways, the pyruvate is reduced by reaction with NADH -
resulting in either lactic acid (your muscle cells - ouch!) or ethanol and CO»
(yeasts - making bread or wine). More importantly, this allows the NAD™ to be
available for use in glycolysis so that ATP can be continuously made!! This
doesn't release much energy as ATP - but it's better than nothing at all!
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